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Columnas desde, filas destino, en cuadro costo, siguiente salto desde la columna!!MAL!REVISAR ESTA MAL LA 12

1 A B c D E
A - 1A | 2A | - -
B 1, - - 9B | 5B
c |2a| - - 1c | 2.
D - 9B | 1C - | 10D
E - 5E | 2E |10E | -
2 A B c D E
A - 1A | 2A | 3C | 4cC
B | 1A - | 3A | 9B | 5B
c |2aAa|3A]| - 1c | 2¢C
D | 3c | 9B 1C - 3.C
E | 4c | 5E | 2E | 3¢Cc | -

3 A B c D E
A - 1A | 2A | 3C | 4cC
B | 1A - |3A]|5cCc| 5B
c |2Aa|3A]| - 1c | 2.¢c
D | 3c|s5c| 1cC - 3.C
E | 4c | 5E | 2E | 3¢ | -

E:
Destino Ruta,costo
A (C,4)
B (B,5)
C (C,2)
D (C,3)







